REEAMNER (FFISEE) (BB REEE)

g Hig &R Bi| mE | ERHBE|EMNEH ERME £
5168] 2[@ 10,336 EYMRED-HEED20%ENYET, 6,461m x 0.8=5,168m
BHILGY — 120 m 6,461
MG re=3l i 4522 18] 4522 EMRED-HEBDI0%ENYFET, 6,461m x 0.7=4,522m
[R5 R BARRE (E%&t) GEE -ERBEk 36,495
\9) 7,526] 2@ 15,052 EMRELD-HEED20%ENYTET , 9,408m X 0.8=7,526m
TERALIGY — 12k m 9,408
6,585 1[8] 6,585 EYRLDO-OEBED3I0%ENYTET , 9,408m x 0.7=6,585m
REBEKREIH Y — 12 m 2,953 2362 1®= 2,362 EYMRED-HEED20%ENYET, 2,953m x 0.8=2,362m
(Eﬁr}t) (<5£)Ei -ERBER | THREBAREIEY — 12 m | 15,508 12,406 18] 12,406] 25,184|4EMREDT=OEIED20%%F XY % T, 15,508 x 0.8=12,406m
)
SHBEREIH Y — 12 m 5,208 5208] 2@ 10,416 MYZELEL
mi%iglgi *%ml}'%ﬁ mi%iglyi 1%2]?’1-5%\] _piiEEBji m 740 740 4@ 2,960 10 240 1mmg|ﬁ§
EBE 23 Bzt |8 ) . ' —
AMBIERERE | (W& pAmE R TERALEY —URh m 1,820 1,820] 4[] 7,280 1miERRE
REFBREIHY — IR m 180 180] 3 540 IR B
s | i |2 rRmasamy—zn | m | 660 60| 3@ 1080l 3720l 1miERRE
SHBEREIHY— I8 m 400 400] 3E 1,200 1migRRE
INEH m | 43,338 75,639] 75,639
BREmEBEMNEDE~ADHBRE GE@E: 2E|QE)
2. 2360
1.0
2.0

(R E{E:N) N = 2230 = 2.0 = 1.118



